Math 102 - Exam II Semester 061 Code -1 -

1. The volume of the solid obtained by rotating about the y-axis the region
bounded by: y = %, y=0,z=1and z =2 is equal to

2. The volume of the solid obtained by rotating the region bounded by y = 1 — 22
and y = 0, about y = —1 is equal to

a) 437/5
b) 287 /15
¢) 567 /15
d) 867/5
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(e) 127/5
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3. The volume generated by rotating the region bounded by y = Inz, y = 0, and
x = e about the y-axis is equal to

4. The integral [ %daz is equal to
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3 /2 '
5. The integral sin ada

1+cosx
27/3

a) converges to 1

b) converges to In 0.5
c) diverges

d) converges to In 2
e) converges to 0

(
(
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(
(

dx
Pt

6. The integral is equal to

(a) Infa| - 1(z2 + 1) + C
(b) In |23 —l—x‘—l—C’

(c) =3zt — iz’ +tan"'2? + C
(d) In |z| — ln(x2+1)+C'

(

e)ln|az\+1ln(2+1)+ +C

(@ + )
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7. The integral [ sin® x cos®z dz is equal to

0

(a) 18

(b) 1/28

(c) 2/63

(d) 1/63

(e) 3/28

(tan_l m)2
1+a2

8. The average value of on [0, 1] is equal to
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9. The integral [tan?z secx dx is equal to

AAAAA

a) 3
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tan xz+C

sec® v + C
(secx tanx — In|secx + tanx|) + C

10. The integral [ L’L—idx is equal to

(
(
(c
(d
(

e

)
)

a) tan*1x+\/1—:z:2+C
b)
)

Inv1 — 22 — sm 'WVi—a224C
ln\/l—xQ—sm Vi—224+C

ln|1—:L’2‘—|—sm xz+C

sinle+vV1—224+C

Lsec?r tan?® a:—ln‘sec x + tan® x’+C

sec?z tandz + In !seczaz + tan3x‘) +C
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11. The integral [ sin(Inx)dz is equal to
1

(1+esinl —ecosl )
(I1+sinl —cosl)
esinl —ecosl
(esinl —ecosl)
(1+esinl+ecosl)

N0~ = ro =N —

12. The integral [ f "= is equal to

(a) 2 VT + 4 Vx +41In(Vr + )sin LWz +C
(b) 2 VT +4I(Vr + 1) + =ty + C
()2\/_—4\/_+41n(\/_+1)+0

(d) 22° — 4z +4In|z + 1] — tan ! Yz + C
(e) ln| VT + V| +C
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13. The integral [ ze ™ dx

a) converges to 1

b) converges to —1/2
c) converges to —1
d) diverges

e) converges to 0

(
(
(
(
(

14. The volume of the solid obtained by rotating about the z-axis the region
bounded by: z = 4y? — v and z = 0 is equal to

a) 5127r/5

c)256w/5
d) 1287/3

(
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(
(
(e) 647/5
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15. The integral [2v/1 — zdz is equal to
21 gin~!(z) + w1 —zt+C

sin”!(z) + tav1— 2t + C
z? + ga?sin 227 + C
tan~!(z%) + 32v/1 — 2t + C
sin” ! (2%) + 12?V1 — 2t + C
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